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| Time:35Minute | Paper Math7(T-1) |  Total Marks:25 |

| 6th Month, 2nd Week, 6th Day | Revision Test (2nd Week) |

Q.1. Choose the correct options. ax3=3) - /,«l‘?ll(..,alﬁu/)
(i) What is the mean of data 25, 29, 12, 15, 31, 36, 38, 40, 30?

?‘49@/1105, 29, 12, 15, 31, 36, 38, 40, 3005
l@| 2576 |m| 2662 [©@] 2740 |@] 2844 |
(ii) In5,9,8,9, 10, 11, 3, 7 then mode is: :+a;uu:5, 9,8,9,10,11,3,7
@ 3 o] 7 Jo| 9 [@f 1 |
(iii) What is the median of data 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6?

fe_ k346, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6515
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% Answer the following questions: - A,«I:ZLQUVJ“ 3
Q.2. Find mean of the data. (1x2=2) -uj/r)—*’mmlréé;

42, 40, 47, 35, 41, 50 55, 30, 32, 45

Q.3. Make a table and draw the appropriate graph for the following data.
Also explain why did you choose this graph? (1x10=10)
U ..,wwl/uu.,I,J’u/.»uw!f‘i!/./ud/ Bt st e T
(1) A bag contains 150 balls of different colours. There are 50 red balls, 20 blue

balls, 30 green balss, 15 black balls and 35 yellow balls.
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(ii) Azhar rolled a dice 200 times. The number "1" was occured 20 times, the
number "2" was occured 35 times, the number "3" was occured 40 times, the
number "4" was occured 25 times, the number "5" was occured 53 times and
the number "6" was occured 27 times.
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Q.4. The mean mass of 10 sacks of rice is 50.25 kg. The masses of 9 sacks of
rice (in kg) are: . . (1x5=5)
e L3t UE KLU 1 50251 b KL 108U
49.5, 55.75, 50.5, 51.75, 48.25, 47.5, 54.23, 55.26, 53.25

Q.5. Find the mean of the given data.  (1x5=5) - /'/r}"" L/}'K)’}”Zéi—)
Class intervals 6-10 | 11-15|16-20 | 21-25 | 26 —30
,5558'9 Lz
Frequency 17 20 25 15 10
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Q.1. Choose the correct options. 1x3=3) - /’/..,al’s'“'l&.«b?:/u
(i) What is the mean of data 25, 29, 12, 15, 31, 36, 38, 40, 30?

fe/b1K25, 29, 12, 15, 31, 36, 38, 40, 30%:5
l@| 2576 |m| 2662 [©] 2740 [@] 2844 |
(i) In5,9,8,9,10,11,3,7 then mode is: ‘0l 25,9,8,9,10,11,3,7
@ 3 o 7 Jo| 9 J@f 1 |
(iii) What is the median of data 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6?
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% Answer the following questions:
Q.2. Find mean of the data. (1x2=2)
42, 40, 47, 35, 41, 50 55, 30, 32, 45
Q.3. Make a table and draw the appropriate graph for the following data.
Also explain why did you choose this graph? (1x10=10)
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(i) A bag contains 150 balls of different colours. There are 50 red balls, 20 blue
balls, 30 green balss, 15 black balls and 35 yellow balls.
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(i) Aczhar rolled a dice 200 times. The number "1" was occured 20 times, the
number "2" was occured 35 times, the number "3" was occured 40 times, the
number "4" was occured 25 times, the number "5" was occured 53 times and
the number "6" was occured 27 times.
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Q.4. The mean mass of 10 sacks of rice is 50.25 kg. The masses of 9 sacks of
rice (in kg) are: . . (1x5=5)
e L3t LE KIS Ul 1 50251 bn KU 108U
49.5, 55.75, 50.5, 51.75, 48.25, 47.5, 54.23, 55.26, 53.25

Q.5. Find the mean of the given data.  (1x5=5) - /(()1"‘ w(;vécj.;
Class intervals 6-10 |11-15(16-20 | 21-25|26-30
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